JSUNIL TUTORIAL

Chapter 06: Similar Triangle Test Paper 01

Class 10. Time 45 min.

SECTION-A(1 mark Questions)

FM: 35

1.

If A ABC ~ A PQR with £ A = 32° and £ R = 65°, then the measure of

Z Bis:
(a) 32° (b) 65°
(c) 83° (d) 97°
2.
In A ABC and A DEF, % - ﬁ'—?. Which of the following makes the two
triangles similar ?
(a) ZA=ZD (b)) «£B=«D
(e ZB=ZE d ZA=ZF
3. If APQR ~ AABC; PQ =6 em, AB = 8 em and the perimeter of AABC is
36 cm, then the perimeter of APQR is
(A) 20.25em (B) 27 cm
(C) 48 em (D) 64cm
4. In two triangles PQR and LMN, if PQ = QR - PR , then :
MN LN LM
(a) ALMN ~ A RPQ (b) ALMN ~APQR
(& ARQP~ALMN (d) A QRP ~ALMN
S. In the given figure, AB || PQ. If AB = 6 cm, PQ = 2 cm and OB = 3 cm,
then the length of OP is :
@ um (a) 9cm (¢) 4cm
(=
3 S
4 (b) 3 em (d lem
un g
-
6. In the given figure, DE || BC. If AD = 2 units, DB = AE = 3 units and
EC=x uiits, then the value of x is :
3 (a) 2 (b) 3
= 9
b = (e) 5 (d) 2
3 X
B - C
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7. A 6 cm C R
\/ 5 X
e ™
B Q P
In the given figure, AABC ~ AQPR. If AC=6 cm, BC =5 cm,
QR = 3 cm and PR = x; then the value of x 1s :
(a) 3.6cm (b) 2.5cm (c) 10 cm (d) 3.2 cm
8 | InA ABC, PQ|BC. IfPB = 6 cm, AP = 4 cm, AQ = 8 cm, find the
length of AC. A
(a) 12cm
(b) 20cm P Q
(¢) 6cm
(d) 14cm
B ~C
9. In the figure, the criterion of similarity by which AABC ~ APQR is :
(a) SSA (Side — Side — Angle) Similarity P
(b) ASA (Angle — Side — Angle) Similarity A
(c) SAS (Side — Angle — Side) Similarity
(d) AA (Angle — Angle) Similarity
i 2.9 em 4.4 cm
50“ et 02l
B  35em C 70
Q 7 em R
10. A ABC ~ A DEF and their perimeters are 32 cm and 24 cm respectively.
If AB = 10 cm, then DE equals :
(a) 8cm (b) 7-5cm
() 15cm @ 5V3 em
SECTION-B(2 marks Questions)
1. In the given figure, XZ is parallel to BC. AZ =3 cm, ZC =2 cm, BM = 3 cm

and MC = 5 em. Find the length of XY.

/AN

yamay
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12.
If AP and DQ are medians of triangles ABC and

DEF respectively, where A ABC ~ A DEF, then prove that
AB AP
DE  DQ’

13 In the given figure, E is a point on the side CB produced of an isosceles
triangle ABC with AB = AC. If AD 1 BC and EF L AC, then prove that

AABD ~ AECF.
A

B
E B D C

14.
In the given figure, ABCD is a parallelogram. AE divides the line segment

BD in the ratio 1: 2. If BE = 1.5 cm, then find the length of BC.
D C

A B

15. In the given figure, ABC is a triangle in which DE|BC. If AD = x,
DB=x—2 AE=x+ 2 and EC = x—1, then find the value of x.

SECTION-B (3 marks Questions)

16. Diagonals AC and BD of trapezium ABCD with AB|DC intersect

. oA OB
each other at point O. Show that oC oD

D C
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17. PA, QB and RC are each perpendicular to AC. If AP = x, QB = z,
RC =y, AB =a and BC = b, then prove that l+l=l.
Xy z
P \
I
" Q
¥
z
A a B b C
18 In the given figure, CD and RS are respectively the medians of AABC
and APQR. If AABC ~ APQR then prove that :
(1) AADC ~ APSR
(1) ADx PR =AC x PS
C
P 3 Q
A D B
R
19. Sides AB and AC and median AM of a AABC are proportional to
sides DE and DF and Median DN of another ADEF. Show that AABC
~ ADEF.
20 ABCD is a parallelogram, P is a point on side BC and DP when
produced meets AB produced at L. Prove that
. DP DC . DL_AL D C
@ DP_DC gy oo
PL. BL DP DC
P
(1) IfLP:PD=2: 3 then find BP : BC. \g\ L
A B
SECTION-B (5 marks Questions)
21.

In the given figure, CD is the perpendicular bisector of AB. EF is

perpendicular to CD. AE intersects CD at G. Prove that CF _FG

CD DG’
B

E

.
FG\
A
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22. Sides AB and BC and median AD of a triangle ABC are
respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

23. | Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L and AD (produced) in E.
Prove that EL = 2BL.

24. | D isa point on the side BC of a triangle ABC such that
ZADC = ZBAC, prove that CA* = CB.CD

OR
If AD and PM are medians of triangles ABC and PQR,

: AB AD
respectively where AABC ~ APQR, prove that — PQ - PM-

25. | In the given figure, ZADC = ZBCA ; prove that
AACB ~ AADC. Hence find BD if AC=8 cm and AD =3 cm.

C

A

A D B

26- | If a line is drawn parallel to one side of a triangle to intersect the

other two sides in distinct points, then prove that the other two
sides are divided in the same ratio.
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27. | (A) Ina APQR, N is a point on PR, such that
QN _LPR. If PN x NR = QN~, prove that #/PQR = 90°.
OR
A
(B) In the given figure, AABC and
ADBC are on the same base BC.
If AD intersects BC at O, prove
ar (AABC) _ AO
that & ~@ADBC) ~ DO o
ar ( ) B c
D —
28 In the given figure, DE || AC and & = BC  prove that DC || AP.
EC CP
A
D
B o C P
29. | Observe the figures given below carefully and answer the questions :
Figure A .
Figure B
D 24cm C S 4.8 cm D 3.5cm C S Icm R
g5’ 70° ] ] 7 0
g 5 5 : : ;
:: aal [as] Lt Lag] L]
105 100 m O N O
P TTom Q A 3.5¢cm B P Jcm Q
A (i) A (iD) B (iii) B (iv)
Figure C
C(v) C (vi)
(i) Name the figure(s) wherein two figures are similar. 1
(i1) Name the figure(s) wherein the figures are congruent. 1
(i) (a) Prove that congruent triangles are also similar but not the
converse. 2
OR
(b) What more is least needed for two similar triangles to be
congruent ? 2
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